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1. The speed of a surface gravity wave is described by the
A. wavelength times the period.
B. wave period divided by wavelength.
C. wavelength divided by wave period.
D. square of the depth.
E. earth's gravity.
2. Water protected from direct wave influence behind a breakwater can be placed in motion by wave
A. diffraction.
B. refraction.
C. reflection.
D. All of these are correct.
E. None of these are correct.
3. Inaclosed basin, a single-node standing wave oscillation tends to have a wavelength that is the
basin length.
A. one-quarter
B. one-half
C. the same as
D. twice
E. four times.
4. Swell is more regular than waves in the wind-generated area because
A. waves have been sorted by dispersion.
B. some small waves have been damped out by friction.
C. packets of swell are all at the same depth at the same time.
D. waves have been sorted by dispersion and some small waves have been damped out by friction.
E. waves have been sorted by dispersion, some small waves have been damped out by friction, and
packets of swell are all at the same depth at the same time.
5. The combination of diurnal and semidiurnal tides produces a tide.
A. diumal
B. semidiurnal
C. mixed semidiumal
D. standing
E. equilibrium.
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6.

s

. Sand dunes are found along coasts in which the sand is transported

The tide component tends to make high tides appear about one hour later each day.
A. diurnal

B. semidiurnal

C. lunar

D. solar

E. declinational.

Diurnal tides are more prevalent at middle latitudes when the tide-raising bodies are
A. at low declination.

B. at high declination.

C. in line with each other.

D. 90 degrees to each other.

E. 180 degrees to each other.

A coral reef coast is a product of

A. volcanism,

B. erosion.

C. a change in current direction.

D. living organisms.

E. wave action.

High-energy waves of winter storms

A. move sand from bars onto the beach.

B. move sand from the beach out to bars.

C. build sand spits and tombolos.

D. hold sand on the beach and keep the beach stable.
E. All of these are correct.

A. from the beach toward the sea.

B. from the beach toward inland areas.

C. from inland areas toward the sea.

D. from the beach toward inland areas and from inland areas toward the sea.

E. from the beach toward the sea, from the beach toward inland areas, and from inland areas toward the
sea.
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. A submarine earthquake produces a tsunami in the Gulf of Alaska. How long will it take the
tsunami to reach Hawaii if the average depth of the ocean over which the waves travel is 3.8 km
and the distance is 4600 km?

w

. A wave field is observed by satellite. The wave lengths are determined to be 312 m in deep
water and 200 m over the continental shelf. What is the shelf depth?
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